FHALIMYE R =Y 5 B TR
2004 —2005 “F4FEEE S 2 274
CEFHIE 7 %) RREARFEIRILEB )

o W E A I g PEL .
FPige 4 R - B
gy — - = LY i 75 - 5Py
iR it

—. HZE (B= 245, #£304%)
1 eSS I e M i T3 e =38, 23 mIRZ 0 XUi B 5 Re  Sl 2d y

FERIR L 5 RS, sl iR nl LA ko TR IR, BAfte 5 FEml LR
W R RERIREAY,  Laplace J5 2] LAVE 5T RATT R AR,

2. (HeAWHEIIREY WREMREAAL S — RPN — 7 R AR B i) RS
O EEF R, B E AR R, 5 5 T SR I 5 [ M . i ) % 32 5 s

A At RE R R AU A7 AR PEAN PEGERR b € iR

T 3L (1385 5 P
3. B ASRIES RIE R A Y BT R FEATTVE L —. A2 TTE S SRIZ 8 T AL S5 b

Uit 1, oK ) A 7 1 A i ) R B

4. Laplace /5 P FIFEA A A =K fift Laplace J5 F o6 FEEAEH, Laplace 5 FE M FE A fift B0 45

SO TR igf R0 0 FR A7 Laplace T R (8 BN AR AR s A2 1) 7 B2k R RRAE
A TTRER




1

5. KRB GRUZIERED G(M,M,) = ————g(M;M,) {elf 2 [k

MM,

6. Legendre £ 15X 1) P P e 46 A B A

AR BRI (1) = A T IR

2

sz)yzo'ﬁﬁi’i& Lo

7. %47 Legendre Tl 7 FE (1— X )d y 2ij+(/1—1
X

Y ooy = A I RIBAAEAE ), AR AL AL R

B

HEAEE: ATEMALRE S T2 HR!

= RN TSR, P A E, ERCNE B RS, S RAIIR IS Y

sin ,%ﬂﬁ“@fﬁsm%. 5 5 H AT IR B A2 1) 58 A 1) 8 (5 %08 i i)
i, AT KA. (10 77)
=. W B R IE R AR A W)
u, =a’u, (0<x<I,t>0)
u(0,t)=0, u(l,t)=0 (t>0)-
u(x,0)=sin|ﬁ 0<x<l)
BRE H et . (20 %)

PO SRS FRASZ 10 B e dkah. Bk I ALA2 h cos x AI4aE 8 2 sin x (10 47)

2 = J—
. Einﬁﬁ@ﬁﬂ%}_ﬁ U, U, =0 ( 00 < X < +00,1 >0)
u(x,0)=p(x) (-0 <X <+0)

%2 W e m



(&-x)°

N 1 A 4a% Sk AR ) SR
E‘Jﬁ@jﬂu(x,thﬁj_mq)@)e A&, SRR AU SE gt il 1Y) At

u —a’u, =0 (0<x<+o0o,t>0)
u,(0,t)=0 (t=0)
u(x,0) =w(x) (0<x<+w)

BRE H SE L RE. (15 43)
7~ 4R Laplace Ji 22T B2 F-1i (y > 0) ) Dirichlet ] 85 Fry 4% bR bR %1
G(M;M,). (10 %)

. AN f(H):icnPn(cose), Hrho<0<rz, c, MR, Wkl R¥c,.

@ J‘l [P.(x)]?dx = L, 4 P (X) 4 n ¥ Legendre % AKX, ) 5 7)
- 2n+1



SHEER
— HEEE (=24, #304)

1 xuth ;e ;A

2. GEf# ;  ME— =y

3. FIR G FRAEME
1, ,du 1, du

4, —(r-—)=0; —(r—)=0
rz( dr) r( dr)

5. Xk D A Mo Ab 547 1F HiLfar S AR R AT S T RN S L Ar 7E MU AR ) L Y
.

6. _IEA&C ; _ H—

7. n(n+1), (n=012,---); P"(x)

n

ke

[
Pl

u,—a’u, =0 (O<x<l,t>0)
fif: %M E R du0,t) =0,u(l,t)=0 (t>0)

u(x.0) :sinlﬁ,ut(x,O) :sinzTﬂX (0<x<I)

— N

ff: 1. ZEHH
- B ez | T +A2°T (1) =0
wu(x,t) =T ) X(X), ﬁ)\/zmﬁﬁfﬁ»{xn(x) X () =0 )
B Bru(x,t) =T @)X (x) FRAD AT X(0) = X(1)=0.

X 4 13 X"(X) +A(X) =0
2, *ﬁﬁ’/ﬂ:—{ﬁﬂ?@ﬁ{xw) -0,X(1)=0

b A0 B

2_2
FRIEAE A, =n|—72[, R BRI £ Xn(x):sing, n=12,--
3. RMBEMAIFET ()+1,a°T(t)=0

n?z2a?

T.0)=Ce " , HihC HERHE 15 RIF#

n?z?%a?

u, (x,t)=T, ()X, (x)=C.e " sinnl—ﬂx, n=12,-

Pz
o
=

%4



22,2

4, 45fR6 Bim
wxozfpdmogicﬁn@agn%ﬁ
5. AR Ak AR B A 3
u(x,0) :sinlﬁ = icn sinnTﬂX: C,=1C,=0(n=1)

n=1

7%a®

NESEN \ \ T2 . 7IX
A R u(x,t) =e ! sin ==

11N

ff: TG PRASSZ IR B e sl AL 1R A il R
U, =a’u,  (-o<x<o,t>0)
u(x,0)=cosx (-0 < X <o)
u,(x,0) =sinx (-0 < X < )

@(x + at) + p(x — at) N 1 poat

FIF D’Alembert Az u(x,t) = .[ v(a)da, X5
2 2a Jx-a

o(X) =cosx,w(x)=sinx, £}

cos(x + at) Z cos(x—at) 2—1a[cos(x +at) — cos(x — at)]

u(x,t) =
.
fi#: XPHME PR Ay (x) TEM T, 3G —ME (—o0, 00) LB MIHIME PR 4K
y(x) (x=20)
y(-x) (x<0)’
MR S TG B i S8 B L ) 750

{Ut —a’U, =0,(-o < X < +o0,t > 0)

U (x,0) = ¢(x) |

_(E-0)?
Eﬁ%u(x,thﬁjﬁo(ﬁ)e “@tds, HU(X0)=0. B2 x>0, Uxt)

P(X) = {

HUE PRI u(x, t) . = J5t 58 e ] et ) A



G ()

uoxt) = fj v(de s J—I y(-&e = d

P @
\/_.[ l//(f)[e @t g dat }dé

75
fil: K53k, W15 Laplace J5 R 55 T F2F i (y > 0)f¥) Dirichlet ji 551 (4% Ak e&i

1 1
H:G(M;M,) =
( )= \/(x Xo)2 +(Y—Vo)? \/(X X)® + (Y +Y,)*

£\
fil: FIM Legendre £ WA M IEAS A1k, w43

n 2n2+1_|. f (@)P,(cosd)sinada




